Unit 1 Cell Biology
       Topic 8 Respiration
National 5


Homework 3 
1. The table shows a comparison of the breakdown of one gram of glucose by three different types of cell respiration.
[image: image1.png]Type of cell respiration

A B C
Energy released (kJ) 17-1 09 | 09
Oxygen used (g) 1-07 0 0
Carbon dioxide produced (g) | 147 0 0-49
‘Water produced (g) 0-6 0 0
Lactic acid produced (g) 0 1 0
Ethanol produced (g) 0 0 0-51





a) i)
Respiration of type A releases much more energy than the other types. 
What name is given to this type of respiration? 

         
    KU1

    ii) 
Which two types of respiration take place in the following cells?

Muscle cells:
 type______and type _______



    KU1
Yeast cells:
 type______ and type _______


    KU1
b)
Express the energy released from one gram of glucose by the three types of respiration as a 
simple whole number ratio.


_____:______:_____


type A type B type C






    PS1

2. [image: image3.png]Lactic acid

Work rate Heart m.te Breathing rfzte concentration

(watts) (beats/min) (breaths/min) (mg/l)
0 76 12 1-0
40 92 13 15
80 112 15 1-8
120 132 16 35
160 156 18 45
200 172 30 9-0




The table below shows how exercise at different work rates affects heart rate, breathing rate and the lactic acid concentration in the blood.


ii)
Explain why the lactic acid concentration increases as the work rate increases. 








    PS1

3. Yeast may carry out two different types of respiration.

a)
Name the type of respiration in yeast which has the highest energy yield. 









    
    KU1

b) The diagram below shows one type of respiration in yeast cells.
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i) Name substances X and Y.

X____________________





    KU1
Y_____________________ 





    KU1

ii) What other substance must be present for stage 2 to occur? 
    KU1
�





i)	Calculate the percentage increase in lactic acid concentration as the work rate increases from 0 to 200 watts.





______% PS1














